1]2]3]als]slz]8]9e]10
nmiiziiuis|isliz)isliel 20
21|22]23 2412526 27| 28] 2930
31132(33]34135|36 37| 38]39]40
4114243 | 441 45|46 | 47| 48| 49| 50
5115253054 55|56 57]58]59] 60
616263 64]65|66|67]68]69]70
nlr2lzirals|relz7| 8] 9] 80
81| 82|8384|85]86|87|88|82]9
9192|9394 95196 97| 98] 99100
A number is divisible by 2 if...

1121 3i4}5]61718}9]10

11112(13{ 141151617118} 19| 20
21122231 2412512627 128}29]|30
31{32|33i34{35{36|37|38|37]40
Al | A2 | 43 [ A4 45| 46| A7 | 4B | 49 | 50
51152153} 54|55 56|57 58] 59| &0
61 1 62|63 6416566167 68| 69170
JV{ 7273174175176 |77 7817980
811828384 !85/86|8/ 88|8%]90
911921 93194195196197198]92{100

112]13i4}51617 8| 2110
1M{121131 1415116117 18]19120
21122123124 2512627282930
31132]33|34{35]36|37}138|3%]40
Al [ A2 [ A3 [ A4 | A5 | A6 | A7 | 48| 49 | 50
511 52153]54|55|56|57 58| 57|60
61162 | 63164165 66|67 6B} 69| 70
JV | 72173 (7475|7677 78|79 80
B81{82|83{84{85[86|87/88|89]|%90
91 (92| 93]94195]96]97198]97]100

[ ——

1§2{3141{5}1617)18|91]10
1M{12{13}{ 14§15} 16| 17}18]19{20
21 {22 | 231241252627 1282930
31(32{33]34{35]36}37|38]37] 40
A1 [ A2 {43441 45| 461 A7 | 48| 49 | 50
51 52| 53]|54]55]|56]57|58]|59]60
61| 626364165661 67| 68| 69170
711721731 741751761 7717817%980
81{82|83{84{85[86|87|88|89]90
91192931941 95{ 96|97 98] 972|100

A number is divisible by 8 if...

it is even. (It ends with a 0, 2, 4, 6,
or 8.)

5 Add all the mmm#m.

2. If the sum is divisible by 3, so is the

number. (3, 6, 9, 12, 15,... - can use
the hundreds chart to check)

Exomple: 645 = 6+4+5 =15

the last two digits are divisible by 4.

(4, 8, 12, 16, 20,... - can use the
hundreds chart to check)

itendsin a5 ora@.

it is divisible by BOTH 2 and 3.

Both rules have to work.

B

v W

Take the last digit and double it.

Repeat until you have 1 or 2 digits.
Is that number divisible by 7?
If so, do a @E.n_h mental math division to

double check.

the last three digits in the number
are divisible by 8.

1. Add all the digits.

number. (9, 18, 27, 45 ,... - can use
the hundreds chart to check)

mésjug A2 =3+4+2 =19

Subtract that from the remaining numbers.

If the sum is divisible by 9, so is the

1 2 3 4 5 & 7 8 2110
1M{12§13] 141151161171 18{ 1921 20
2112212312425 2612728129130
31132:133{34:35136i37}38}392]40
Al [ 42143 4445|461 47| 48| 49| 50
51152153 {54;55]56{57|5859, 60
&1 1621 631641 651 661 67| 681 4691 70
V7217374175176 7717817980
81182:183{84i8518B46i187/(88;89; 2
Q11921 93{941 959619798} 92i100
A number is divisible by 3 if...
1 2131415 & 71819110
MP121 1314115116117 (18 19 20
21122123 1241251261 27(28}29 30
31132133341 35{36137}138|3%2] 40
Al [ A2 | A3 | A4 | A5 | A6} A7 | AB | 49 | 50
51152153154 55|5i57]|58]59] 60
61 162631641 65| 66 67 1 68| 69| 70
TV 721731747576} 7778|79|80
8118283 8485868788899
911921931941 959619719899 1100
A number is divisible by 5 if
1 2 31415 1 7 8192110
MI12113{ 1441511617118 12| 20
211221231241 25126[27{28]|29] 30
31132133134 135136|37;38|3%9]| 40
Al | 42 | A3 A4 [ A5 46| A7 | 48 | 49 | 50
51152153154 155|56}57}58|5%] 60
611 62|83 64| 65| 66} 67 | 68| 69| 70
1172731 7475767717879 80
81182|83{84|85,86|{8788{892]|%
9119293192495 96(971928]9?21100
A number is divisible by 7 if..
1 2131 415 é 7] 819]10
Mj12113114;15; 1611718119120
21122123241 2512627128129 30
311321331 3413513613738 3% 40
A1 {42143 4445 46] 47| 48] 49 50
5115215354155 56]57|58; 59|60
&1 | 621 63 ] 641 651 66| 67 | 68| &9 | 7O
Ni72173|\74175176177178179] 80
Bl1i82 83|84 i85 86|87{88i89%|9
9119219394195 9697198199100

A number is divisible by 9 if..
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Single Quadrant Ordered Pairs

YA
s Al | mlR| |
8 AN M.\_l___u | | Tellwhat point is located at each ordered pair.
IL
7 3 % x ¢ - 1) (7,9) 6) (6.7)
6 ) » .
5 2) (8,1) 7) (2.0)
J
e - o
3 Q 3) (6,9) _ 8) (5.6)
2 . s ';'P - 4) (3.9) 9), (7:2)
1 o i IS 0 B 1
0 Lo l et T, e 10 @e
Ul 2ud. 4 5 6 7 8 981X

Write the ordered pair for each given point.

e {1 17) E
] 16) U By ¥ L
18y @ 16) V 19) O

Plot the following points on the coordinate grid.
20). D (6:4) 220 Fo(24) 24) N (5,1)

SN X (500 23) B (8,8) 25) H (7,3)

A mym
% -] Math-Aids.Com %mﬁ




Case of the Stolen Factors

Ollie The Owl! has stolen a factor from each of the
twenty factorizations below. Luckily, Ollie has left a clue:
several feathers that contain all the stolen factors! Help me
solve this case. Complete each factorization by identifying

_the stolen factor and writing it in the blank space.

EXAMPLE:

Which factor
was stolen?

12=2x2 x3

2x3=6,6%@Q)=12

e W

@ Which factor

was stolen?

HE= 12 o3

e Which factor
was stolen?

32 =2 x2x2X2x &

was stolen?

Th =30c5% |

@ Which factor
was stolen?

78=2x8x L .

Which factor
was stolen?

db= 8ea X0

Which factor
was stolen?

24-2x2x2%__

Which factor
was stolen?

0 =285

Which factor
was stolen?

180=2x_ x3x3x5

Which factor
was stolen?

28 =2 Coxly

Which factor
was stolen?

A0i= 2063

Which factor
was stolen?

66 =12x . xd

Which factor
was stolen?

140 =2x2x5x__

Which factor
was stolen?

AL =2 %20 =

Which factor
was stolen?

BB = 202

Which factor
was stolen?

7O= . XEXT

Which factor
was stolen?

63=3x___x7

Which factor
was stolen?

Al ) st e i

Which factor
was stolen?

b2 —2 x2:x 25

Which factor
was stolen?

70 =2 ehhei i

Which factor

was stolen?

100=2x2x__x5




Use the chart you created to answer the following questions:

Prime and Composite Models (pp.20f2)

Sth Grade

Mathematics
Unit: 04 Lesson: 01

(1 Which numbers have only 2 rectangies (PINK)? These numbers are PRIME numbers.
Prime numbers have exactly 2 different factors, 1 and itself. List the prime numbers from the chart here.

(2) Which numbers have more than 2 rectangles (YELLOW)? These numbers are COMPOSITE numbers.
Composite numbers have more than 2 factors. List the composite numbers from the chart here.

(3) Write all the factors of each number. Then circle either PRIME or COMPOSITE next to each

number.

7

14

21

25

17

31

19

9

35

18

30

28

©2008, TESCCC
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PRIME

PRIME

PRIME

PRIME

PRIME

PRIME

PRIME

PRIME

PRIME

PRIME

PRIME

PRIME

COMPOSITE

COMPOSITE

COMPOSITE

COMPOSITE

COMPOSITE

COMPOSITE

COMPOSITE

COMPOSITE

COMPOSITE

COMPOSITE

COMPOSITE

COMPOSITE
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5th Grade
Mathematics
Unit: 04 Lesson: 01

Prime and Composite Models (pp. 1 of 2)

Directions:
A. For each number 1- 20, create as many rectangles as possible. For each number, use that many squares on
your grid.
Rectangles can be made horizontally or vertically. Sides must touch. HINT: Squares are rectangles too.
For example, 12 is a COMPOSITE NUMBER. It has rectangular models other than 1 and 12 and 12 and 1.
12x1 1x12 Ix4
LUTTTTITTTITT

6x2

2x6

T ;
1 T3

LLTTTTTTTITTT

Record each number and its rectangles. Find the number of rectangles.

Cross-out the number in the number column that only has 1 rectangle.

Color the numbers in the number column that have exactly 2 rectangles PINK.

Color the numbers in the number column that have more than 2 rectangles YELLOW.

moow

Number of
Number Factors of Rectangles Rectangles
Made

1x6 Ox1 352 Dl 4

O |INO| | [WIN|—=
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